medyear Qs of embryology
1. according to the terminal saccular period :
a. 6-16 weeks
b. 16-26 weeks 

c. 26 week till birth
d. 32 week till 8 years
2. which of the following is endothelium in origin
a. type I alveolar call 
b. type II alveolar cell 

c. terminal saccules 

3. the outcomes of the fertilization all true except:

a. restoring diploid number of chromosome

b. determine sex of embryo

c. stimulate the secondary oocyte to complete the second meiotic division  

d. initiating cleavage of zygote 

e. variation of human species

4. regarding the uterine tubal ectopic pregnancies all are true except

a. 95% of occur in the uterine tube

b. if it occurs at the right side ,it maybe confused with appendicitis

c. usually result in rupture of the uterine tube and hemorrhage into the peritoneal cavity 
d. it causes mostly death of the embryo or otherwise a delivery of the embryo after 6 month of implantation 
5. regarding the 3rd week of development ,

a. the intraembryonic colem divides the lateral mesoderm into two layers 

b. the intra and extraembryonic mesoderm do not communicate with each other 

c. the notochord forms the vertebral column

6. regarding the maternal part of the placenta it is 

a. villous chorion and deciduas basalis

b. villous chorion and deciduas parietalis  

7. the blood in the intervillous space contain,

a. maternal and fetal blood 

b. maternal blood

c. maternal blood and aminotic fluid 

d. fetal blood 

8. regarding the amnion and amniotic fluid all true except,

a. it covers the fetal part of placenta 

b. amniotic fluid has no significant. 
c. the mother contribute to the most of the amniotic fluid

d. umbilical cord covered by amnion 
9. ductus arteriosus arise from ,

a. distal pat of the left 6th aortic arch 

b. distal part of the right 6th aortic arch 

c. from the dorsal aorta 

10. regarding the tetralogy of  fallot, all true except,
a. pulmonary stenosis

b. ventricular septal defect

c. right ventricular of aorta 

d. dextroposition of aorta

e left ventricular of aorta

11.all of the following structures develop from the endoderm except,

a. epithelium of thyroid gland 
b. GIT epithelium 

c. epithelium of reproductive ducts 

d. epithelium of the larynx

e. endothelium of trachea
12. which of the following is wrong according to folding of the embryo, 

a. allantois lies in the midgut before folding 

b. the pericardial coelom  lies superior to the heart before folding 

c. the oropharyngeal membrane separate the forgut from stomodeum 
d the forgut lies between the brain and heart after folding 

13. regarding the congenital heart defect , all true except,

a. the common atrium problem is very common 

b. ferestrae in the membranous part of the interventricular  septem may close spontaneously 

c. the membranous part is the most common site for the defect 

14. all of the following structures develop from somites except 

a. bone 

b. muscle 

c. cartilage 

d. dermis 

e. epidermis 

15. the common carotid artery and proximal part of interval carotid artery both develop from, 
a. 3rd of aortic arch

b. 4th aortic arch 

c. aortic asc

d. dorsal aorta

16. the proximal part of the aortic arch arises from 

a. aortic sac

b. left 4th aortic  arch 

c. cranial part of dorsal aorta 

17. all of the following part of the primordial heart except 
a. ventricle 

b. atrium 

c.truncus arteriosus 

d. bulbus cordis

e. aortic sac
18. regarding the esophageal atresia ,all are true except 

a. is the most common anomaly involving the respiratory system 

b. may cause polyhydramios
c. food may reflux from stomach to the trachea and lungs 
d. the anomaly is for the superior part of the esophagus to end blindly  
19. parietal pleura  derived from 

a. splanchnic mesenchyme 

b. somatic mesoderm

20. left recurrent laryngeal nerve curve around
a. ductus arteriosus

b.  ach of aorta 
c. common carotid artery 
d. left pulmonary artery 

e. internal carotid artery 

